

Solution to problem 85-10 : An identity

Citation for published version (APA): Bosch, A. J., & Steutel, F. W. (1986). Solution to problem 85-10 : An identity. *SIAM Review, 28*(2), 243-244. https://doi.org/10.1137/1028065

DOI: 10.1137/1028065

Document status and date:

Published: 01/01/1986

Document Version:

Publisher's PDF, also known as Version of Record (includes final page, issue and volume numbers)

Please check the document version of this publication:

• A submitted manuscript is the version of the article upon submission and before peer-review. There can be important differences between the submitted version and the official published version of record. People interested in the research are advised to contact the author for the final version of the publication, or visit the DOI to the publisher's website.

• The final author version and the galley proof are versions of the publication after peer review.

 The final published version features the final layout of the paper including the volume, issue and page numbers.

Link to publication

General rights

Copyright and moral rights for the publications made accessible in the public portal are retained by the authors and/or other copyright owners and it is a condition of accessing publications that users recognise and abide by the legal requirements associated with these rights.

- · Users may download and print one copy of any publication from the public portal for the purpose of private study or research.
- You may not further distribute the material or use it for any profit-making activity or commercial gain
 You may freely distribute the URL identifying the publication in the public portal.

If the publication is distributed under the terms of Article 25fa of the Dutch Copyright Act, indicated by the "Taverne" license above, please follow below link for the End User Agreement:

www.tue.nl/taverne

Take down policy

If you believe that this document breaches copyright please contact us at:

openaccess@tue.nl

providing details and we will investigate your claim.

An Identity

Problem 85-10, by M. S. KLAMKIN (University of Alberta) and O. G. RUEHR (Michigan Technological University).

Let

$$S(x, y, z, m, n, r) \equiv \frac{x^{m+1}}{m!} \sum_{j=0}^{n} \sum_{k=0}^{r} \frac{y^{j} z^{k} (j+k+m)!}{j!k!}.$$

Show that if x + y + z = 1, then

$$S(x, y, z, m, n, r) + S(y, z, x, n, r, m) + S(z, x, y, r, m, n) = 1$$

Solution by A. J. BOSCH and F. W. STEUTEL (Eindhoven University of Technology).

First let x > 0, y > 0, z > 0 (and x + y + z = 1) and consider the following probabilistic model.

Three urns labelled I, II and III contain m, n and r balls respectively. We perform independent drawings by choosing I, II and III with probabilities x, y and z and taking one ball from the urn chosen (without replacement). Let P_{I} be the probability defined by

 $P_{I} = P$ (I is the first urn to be chosen when empty). Then by elementary combinatorics we have

$$P_{I} = x \sum_{j=0}^{n} \sum_{k=0}^{r} \frac{(m+j+k)!}{m! j! k!} x^{m} y^{j} z^{k}.$$

The probabilities P_{II} and P_{III} are defined similarly. Since eventually an empty urn will be chosen, we have $P_I + P_{II} + P_{III} = 1$. Finally, a polynomial in x and y that is identically one for x > 0, y > 0, x + y < 1 is also identically one without restriction.

Also solved by S. LJ. DAMJANOVIC (TANJUG Telecommunication Center, Belgrade, Yugoslavia), A. A. JAGERS (Technische Hogeschool Twente, Enschede, The Netherlands), W. B. JORDAN (Scotia, NY), GARY PARKER (Assurance vie Desjardins) and the proposers.

Editorial note: Both Damjanovic and the proposers found the generalization

$$(*) \qquad \sum_{i=1}^{n} x_{i} \sum_{m_{1}=0}^{p_{1}} \frac{x_{1}^{m_{1}}}{m_{1}!} \sum_{m_{2}=0}^{p_{2}} \frac{x_{2}^{m_{2}}}{m_{2}!} \cdots \sum_{m_{n}=0}^{p_{n}} \frac{x_{n}^{m_{n}}}{m_{n}!} \delta_{m_{i},p_{i}} (m_{1}+m_{2}+\cdots+m_{n})! = 1,$$

using the following generating function:

$$(**) \qquad \sum_{i=1}^{n} x_{i} \left\{ \frac{1}{\prod_{j=1, j \neq 1}^{n} (1-u_{j})} \right\} \left\{ \frac{1}{1-\sum_{s=1}^{n} u_{s} x_{s}} \right\} = \frac{1}{\prod_{i=1}^{n} (1-u_{i})}$$

The assertion is proved by repeated use of the following elementary identities:

$$\sum_{p=0}^{\infty} u^{p} \sum_{m=0}^{p} \frac{x^{m}}{m!} (m+k)! = \frac{1}{(1-u)} \frac{1}{(1-xu)^{k+1}},$$

$$\frac{1}{1-u} \sum_{q=0}^{\infty} v^{q} \sum_{s=0}^{q} \frac{y^{s}(s+k)!}{s!(1-xu)^{s+k+1}} = \frac{k!}{(1-u)(1-v)(1-xu-yv)^{k+1}}.$$

Finally to show that (**) is an elementary algebraic identity, let

$$P_N = \prod_{i=1}^N (1-u_i), \quad L_N = \sum_{i=1}^N x_i, \quad R_N = \sum_{i=1}^N u_i x_i.$$

Then, if $L_N = 1$, we have

$$\frac{1}{P_N} = \frac{L_N - 1 + 1 - R_N}{P_N (1 - R_N)} = \sum_{i=1}^N \frac{x_i (1 - u_i)}{P_N (1 - R_N)}$$
$$= \sum_{i=1}^N x_i \left\{ \frac{1}{\prod_{j=1, j \neq 1}^N (1 - u_j)} \right\} \left\{ \frac{1}{1 - \sum_{s=1}^N u_s x_s} \right\},$$

which is (**).

A simpler derivation of (*) can be easily obtained by extending the probabilistic argument in the featured solution to n urns.

244